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| 24 -25,
C,eqmirjm, Ch 2:-5, Exercises,  pqloOl, #6920 (even ), 24-32, 38-36a

| Solve the equation. (eke o reason fo- each tep.

5. 5x -0 = ~—Ho
5

* = -3o Add'n pmp of 'E"iw“Ht)
z , X | . N
X = -6 MU‘{ Pﬁ-\f ok E.ﬁiu aﬁb Lmy(f EL:) 53

% 5(ex-20)=-0
5x — o = -10  Dish Prep.
¥ = & Mot Pep (it by 1)

(13

0. 2(-x%- 5) L

-I% - o * UL Dist P\"og

. “( 5%-4) = ‘l&&: ‘7) B

Jox = 3¢ = - 1x -1k Dist Pop, o
. Lad'n Pop  Ladd 2x )
1. = 22 Addh Prog [odd 3¢ ]

1]

O



‘ l‘j‘““‘-‘t” 14 3 (9x-8) - 1qx_ = ~\5

2Ux =~ 27 — 18 = TS5 Dist Pmp :
2% - 27 = =\5 ; Substitution F“’“‘ ix = ’2"‘1
A% = 1L Addn P«(‘a@u
X = & Muolt Prop.

Wete a reasSon Qf’f“ each S{‘Q\‘.D

| v e “7*0 'C {
Dolve th eg\\mi n Tew U,

iév ] -Lf\( + 1;4 = S’ ‘
\’ .
Tka = LUy +% Aéém P{“‘Qﬁ’
J : .
Y . 3‘* (Lx + 83 Mot Pmp B‘W“‘ oy a—‘l
L = X + Ly ’Dw \ AR
N} ¥
x,
(3. % v Ry = -7
~J
Qu = =3x =1 Sukt. \Lw:z
J
L = (gx 7\ Muﬁ :‘mo [mult by é.“
J A
Li‘; = > 5;"74 4-—"% Dist. P{'E(\'g*
A 3 - -
20. X -5 °F 2 v
| q[é“ - % 31 = L*[“f?j\ MLJH pf“o@ EUS‘:'::J, "'@ clear (’\"‘“”j"*)"’!}
] - ! . -
DI - 3o = —% Dist pr:;aiiﬁ.
N
- 3 = = 2x-% Subt. p‘m‘ﬁ)
,,,,, -
{ , - L7
| o\ - Ev"j_%»?’\ {1\'4\%}& Q——b.f;’}‘ FW%JH' E'\s 3 ‘f\
:: (- =~ ‘ 1 ~d -
U = Ex+3 Dist Prog.
§
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Use the prpecty o complete cach statement.

2.

Substitution:  IF AB = 15,, then AB+ D = 20:CD

Sﬁwm@—*ﬁ cl

I6 mil = me2 then mEZ C mel

Add'n Bop:  I0 AB:=CD, then A8 47 = D EF

lcomathive

Show Jf\vxa-* ?‘\'\*‘- .pgffﬂmeﬁ’( 61:
AABC equals pecimcher <L AADC.

Pe i 0( AA %Cj

pti’ Com i}(\ AADC

Pt?ﬂm OQ A A D C

Lot

11

.‘D§:s‘\'. Proﬁ: IQ S(xug\) = 2 , tben, 5 X 4 4o . 2

T mils me) ond mL25mi3) then mél Zml3

A iy B

AGB « Be + AC

Guwren

- Substiiuben

Given

SVB:;{"&"{ Uﬁ'\' e

e AR+ B tAC = Oepm of O ABC.



36.  Tathe %%m ZY = X,

ZX = 5X 417,

Y = (O - 2x,

Yy = 2.

Fond  ZY and  XW.

Satement [eason
24 r xw Guren
244 ¥x 2 X+ TX Add'n P
2%z Yw Segmém Add'n
5« 11 = lo-2% Svlestitution B
Iw + VT = O Lddn Dmf) Eaa;cs Ix o each s‘;d&:\‘
Tx = =1 Subt. 'ng. |
X = =i | Muit. ngzu Lot by ';"%'\
Zx = 5(=1) +17 ) = 1O = 2(-1)
2% = 12 Yw = 12
2% + Yx T ZX Y + Xuw = Y
2V 4 3 = 12 3 4w = 2
= =] [xr - 1]
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3. T‘r\e Qbrmula ‘Fnr ‘Hne D»er“lme{%r P oP Q f*ec;{‘c'f‘sclig 7 ii, ;
P : QwQ + ’).(A) - L‘J/\le‘?_ ,2 93 lQﬂq‘hf\ G\r\d (A) ;5 Wu\dtl\.
 Selvx the @mmu Qw {. Use thee formula to

; ‘CW\A/ lﬁ‘ﬂ g‘ﬁ’\ 0( Q. Pﬁ&'{“eﬂﬁwu\m-‘ lewr\ Nim:saﬁ ,Pﬁ-{‘:#ﬂ eler

s 55 meters ond Whese width s U meters.

xii = 20 + 2
P-2w = ’LQ
1(e- 2w) = £

%; - -2

132 The formola Lor the area A of o triangle is A = {U", e

(A.)\(\Qr(’ \3 i3 'ﬂmé ba&a) c"‘\d‘ ‘/\ l\‘éﬂr\e l’\%xg\f\i e
Selwe fne Formula for b, Use this formula to find
Cheignt of o triangle whese orea fs (768 square

inches, ond whost bese is 52 nches.

113

2A

11}

(33
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35.

A Q‘Osh‘fllﬂt b&im &S N@{QQ*IQC&

o & mirror.

U§~e -H'\Q Qr\@o

oven b find  mL2.

- mLll + m[.l + ng = \806

s

MLl A ml2 = iug”

- el = ml3
L2188 - 22 4l + L2 4 23 = 180
i t> = WMy - L7 (4§ s+ L3 =1%o
1 | ¥ v (4g-L12 =180

296 - 22 = 1&0

% B 114
! /L?.. =z ng[
 ————— x
’34, TRQ ‘bew\u‘a :kh QQY\V(r‘t ,F'ét'\rt\'\k{&{t ,(QF‘), +Z? Ct’-lcius (’\QC)
s c = 2(F-32),
Q. Sp\\rc the g‘of\mulq ‘Cur V

= ;
C = _ﬁ' (¥—31\ Guvem
([

-

a
g

= ¥ -22

a9
Mot Rop  [mvit by = )
2cia2 =

Add's men




